
Model Test Paper 
Class- XI 

Military Science 
Time: 2 ½  Hours                                                    Max. Marks: 60 

 

 lHkh iz’u vfuok;Z gSA 

 iz’u la[;k 01 esa 15 iz’u gaS] ftuesa 06 cgq&fodYih; iz’u] 03 fjDr LFkku Hkjks iz’u] 03 ,d 
'kCnh; mŸkj ds iz’u vkSj 03 vfHkdFku&dkj.k iz’uksa dk mŸkj nsuk gSA izR;sd iz’u 01 vad dk 
gSA 

 iz’u la[;k 02 ls 07 rd ds iz’u vfry?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj 40 ls 60 'kCnksa esa nsus gSA izR;sd iz’u ds 02 vad gSaA 

 iz’u la[;k 08 ls 13 rd ds iz’u y?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA buds 
mŸkj 60 ls 80 'kCnksa esa nsus gSA izR;sd iz’u ds 03 vad gSaA 

 iz’u la[;k 14 ls 16 rd ds iz’u fucU/kkRed gS] buesa lHkh iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj yxHkx 250 'kCnksa esa nsus gSA izR;sd iz’u ds 05 vad gSaA 

General Instructions: 
1- All questions are compulsory.  
2- Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03 

fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason 
questions. Each question is of 01 mark. 

3- Questions no. 02 to 07 are very short answer type questions, out of which 02 questions 
have internal choices. These are to be answered in 40 to 60 wards. Each question carries 
02 marks. 

4- Questions no. 08 to 13 are short answer type questions, out of which 02 questions have 
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03 
marks. 

5- Questions no 14 to 16 are essay type questions; all the questions have internal choice. 
These are to be answered in about 250 words. Each question carries 05 marks. 

 
 
 [Multiple Choice Type Questions] 15x01=15 

1- >sye dh yM+kbZ dc yM+h xbZ\ 

¼d½ 330 bZlk iwoZ 
¼[k½ 328 bZlk iwoZ 
¼x½ 326 bZlk iwoZ 
¼?k½ 324 bZlk iwoZ 
When was the battle of Hydaspes fought? 
(a) 330 BC      
(b) 328 BC 



(c) 326 BC 
(d) 324 BC 

2-  ,d QSysaDl esa fdrus lSfud gksrs Fks\ 

¼d½ 16284 
¼[k½ 16384 

¼x½ 16484 

¼?k½ 16584 

How many soldiers were there in a phalanx? 
(a) 16284 
(b) 16384 
(c) 16484 
(d) 16584 

3- ekS;Z lkezkT; dk izFke 'kkld dkSu Fkk\ 

¼d½ fcUnqlkj 
¼[k½ pUnzxqIr ekS;Z 
¼x½ v’kksd 

¼?k½ /kukuUn 

Who was the first king of Maurya Empire? 
(a) Bindusara 
(b) Chandragupta Maurya 
(c) Ashoka 
(d) Dhananand  

4- rjkbZ dh izFke yM+kbZ esa fdldh gkj gqbZ\ 

¼d½ egewn xtuoh 
¼[k½ eqgEen xkSjh 
¼x½ i`Foh jkt pkSgku 

¼?k½ buesa ls dkbZ ugha 
Who was defeated in the first battle of Tarain? 
(a) Mahmud Ghazni 
(b) Muhammad Ghuri 
(c) Prithviraj Chauhan 
(d) None of these 

5- ikuhir dk f}rh; ;q) dc gqvk\ 

¼d½ 1526 bZ0 
¼[k½ 1556 bzZ0 

¼x½ 1656 bZ0 

¼?k½ 1761 bZ0 
 
 



When did the second battle of Panipat take place? 
(a) 1526 AD 
(b) 1556 AD 
(c) 1656 AD 
(d) 1761 AD 

6- bZLV bf.M;k dEiuh dk xBu dc gqvk\ 

¼d½ 1500 bZ0 
¼[k½ 1550 bZ0  

¼x½ 1600 bZ0   

¼?k½ 1750 bZ0 

When was the East India Company established? 
(a) 1500 AD 
(b) 1550 AD 
(c) 1600 AD 
(d) 1750 Ad 

7- Ikuhir dk rhljk ;q) fdlds e/; yM+k x;k\ 

Between whom was the third battle of Panipat fought? 
8- eqxyksa dh lSU; O;oLFkk fdl izFkk ij vk/kkfjr Fkh\ 

On what practice was the military system of Mughals based? 
9- 1857 dh ØkfUr dk igyk 'kghn dkSu Fkk\ 

Who was the first martyr of the revolution of 1857? 
10- bZMu vk;ksx dh LFkkiuk lu~ ---------------- esa dh xbZA 

The Edan commission was established in …………. 
11- lu~ 1947 esa tEew&d’ehj fj;klr ds 'kkld -------------------- FksA 

……………was the ruler of princely state of Jammu- Kashmir in 1947. 
12- [kkylk iaFk dh LFkkiuk ---------------------------- us dhA 

…………………... was founder of the Khalsa sect. 
13- vfHkdFku (A) & izkphu Hkkjrh; esa lSU; foKku dh f’k{kk /kuqoZsn ds vUrxZr nh tkrh FkhA 

dkj.k (R)& ;g _Xosn dk miosn gSA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 
Assertion (A)- In ancient India, military science was taught under Dhanurveda. 
Reason(R)- This is a upveda of Rigveda. 
(A)  Both Assertion (A) and Reason (R) are true. 
(B) Both Assertion (A) and Reason (R) are false. 
(C) Assertion (A) is true but Reason (R) is false. 
(D) Assertion (A) is false but Reason (R) is true. 



14- vfHkdFku (A) & ikuhir dh nwljh yM+kbZ 1558 bZ0 esa yM+h xbZA 

dkj.k (R)& bl yM+kbZ esa jktk gsew dh gkj gqbZA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 
Assertion (A)- The second battle of Panipat was fought  in 1558 AD. 
Reason (R)- King Hemu was defeated in this battle.  
(A) Both Assertion (A) and Reason (R) are true. 
(B)Both Assertion (A) and Reason (R) are false. 
(C)Assertion (A) is true but Reason (R) is false. 
(D)Assertion (A) is false but Reason (R) is true. 

15- vfHkdFku (A) & egkHkkjr dky esa lsuk dh lcls NksVh bdkbZ iŸkh FkhA 

dkj.k (R)&  ,d iŸkh esa dqy 10 lSfud gksrs FksA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 
Assertion (A)- The smallest unit of the army during the Mahabharata period was Patti. 
Reason (R)- There were a total of 10 soldiers in a Patti. 
(A)Both Assertion (A) and Reason (R) are true. 
(B)Both Assertion (A) and Reason (R) are false. 
(C)Assertion (A) is true but Reason (R) is false. 
(D)Assertion (A) is false but Reason (R) is true. 

 
 [Very Short Answer Type Questions] 06x02=12 
2. oSfnd dkyhu lsuk ds izdkj fyf[k,A 

    Write the types of army of Vedic period. 
3. ekS;Zdky esa nwxksaZ ds izdkj fyf[k,A 
   Write the types of fort during Maurya period.  
4. rjkbZu dh nwljh yM+kbZ dc vkSj fdlds e/; gqbZ\ 

  When and between whom did the second battle of Tarori take place? 
5. jkWcVZ Dykbo ds dksbZ nks lSU; lq/kkj fyf[k,A 
   Write any two military reforms of Robert Clive.  
6. eqxyksa dh ;q)if)r dkSu lh Fkh\ 

   Which was the warfare method of the mughals? 
Or 

  ikuhir esa fdruh yM+kb;k¡ gqbZ gSa\ 
   How many battles have taken place in Panipat?  



7. egkdkO; dky dh prqjafxuh lsuk dkSulh Fkh\ 

   Which was the Chaturangini Sena of the epic period?  
Or 

  egkHkkjr dky esa ;q)ksa ds izdkj fyf[k,A 
  Write the types of wars in Mahabharata period. 
 
 
                                  [Short Answer Type Questions]                                   06x03=18 
8. lSU; foKku ds dksbZ rhu {ks= fyf[k,A  

    Write any three scope of military science. 
9. f’kokth ds nwxksZa dh iz’kklfud O;oLFkk dk o.kZu dhft,A 
   Describe the administrative system of Shivaji’s forts.  
10. >sye dh yM+kbZ esa iksjl dh gkj ds D;k dkj.k FksA 

     What were the reasons for the defeat of Porus in the battle of Hydaspes. 
11. egkjktk j.kthr flag ds izeq[k lSU; lq/kkjksa dk o.kZu dhft,A  
    Describe the main military reforms of Maharaja Ranjeet Singh. 
12. vFkZ’kkL= esa of.kZr lsuk ds izdkj fyf[k,A 
     Write the types of troops described in Arthashastra.  
     Or 
    egkHkkjr dky dh lSU; bdkb;ksa dk o.kZu dhft,A 
    Describe the military units of Mahabharata period.  
13. Hkkjr&phu ;q) ds izeq[k dkj.k fyf[k,A 
    Write the main causes of Sino-China war.  
 Or 
  lkscjkao dh yM+kbZ dk o.kZu dhft,A 
    Describe the battle of Sobraon. 
 
 [Essay Type Questions] 05x03= 15 
 
14.  lSU; foKku dks ifjHkkf"kr dhft, vkSj bldh mi;ksfxrk dh foLrkjiwoZd foospuk dhft,A 
      Define military science and discuss its utility in details.  
                                              OR 
      oSfnd dkyhu lSU; i)fr dk o.kZu dhft,A 
      Describe the military system of the Vedic period.  
15. ekS;Z dkyhu lSU; i)fr dh O;k[;k dhft,A 
      Explain the military system of the Maurya period.  
   
                                                   OR 
       flD[k lSU; O;oLFkk dk o.kZu dhft,A 
       Describe the military system of Sikh. 



16. 1857 dh ØkfUr dh vlQyrk ds dkj.kksa dh O;k[;k dhft,A 
      Explain the reasons for the failure of the revolution of 1857.  
 OR 
     Hkkjr&ikfdLrku ;q) 1947&48 ds izeq[k dkj.k ,oa ?kVukvksa dk o.kZu dhft,A 
   Describe the main causes and events of Indo-Pakistan war 1947-48.  
 

 



Marking Scheme 
Class- XI 

Military Science 
Time: 2 ½  Hours                                                    Max. Marks: 60 

 lHkh iz’u vfuok;Z gSA 

 iz’u la[;k 01 esa 15 iz’u gaS] ftuesa 06 cgq&fodYih; iz’u] 03 fjDr LFkku Hkjks iz’u] 03 ,d 
'kCnh; mŸkj ds iz’u vkSj 03 vfHkdFku&dkj.k iz’uksa dk mŸkj nsuk gSA izR;sd iz’u 01 vad dk 
gSA 

 iz’u la[;k 02 ls 07 rd ds iz’u vfry?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj 40 ls 60 'kCnksa esa nsus gSA izR;sd iz’u ds 02 vad gSaA 

 iz’u la[;k 08 ls 13 rd ds iz’u y?kq mŸkjh; gS] buesa 02 iz’uksa esa vkUrfjd fodYi gSaA buds 
mŸkj 60 ls 80 'kCnksa esa nsus gSA izR;sd iz’u ds 03 vad gSaA 

 iz’u la[;k 14 ls 16 rd ds iz’u fucU/kkRed gS] buesa lHkh iz’uksa esa vkUrfjd fodYi gSaA 
buds mŸkj yxHkx 250 'kCnksa esa nsus gSA izR;sd iz’u ds 05 vad gSaA 

General Instructions: 
1- All questions are compulsory.  
2- Question no. 01 has 15 questions, which consisting of 06 multiple choice questions, 03 

fill in the blank questions, 03 one word answer type questions and 03 Assertaion-Reason 
questions. Each question is of 01 mark. 

3- Questions no. 02 to 07 are very short answer type questions, out of which 02 questions 
have internal choices. These are to be answered in 40 to 60 wards. Each question carries 
02 marks. 

4- Questions no. 08 to 13 are short answer type questions, out of which 02 questions have 
internal choices. These are to be answered in 60 to 80 wards. Each question carries 03 
marks. 

5- Questions no 14 to 16 are essay type questions; all the questions have internal choice. 
These are to be answered in about 250 words. Each question carries 05 marks. 

 
 

Q.No. Value Points/ Answer MM 
 Multiple Choice Type Questions 1x15= 15 
1 (1) >sye dh yM+kbZ dc yM+h xbZ\ 

¼d½ 330 bZlk iwoZ 
¼[k½ 328 bZlk iwoZ 
¼x½ 326 bZlk iwoZ 
¼?k½ 324 bZlk iwoZ 

 

1 



When was the battle of Hydaspes fought? 
(a) 330 BC      
(b) 328 BC 
(c) 326 BC 
(d) 324 BC 

            Answer- (c)  326 BC 
1(2) ,d QSysaDl esa fdrus lSfud gksrs Fks\ 

¼d½ 16284 
¼[k½ 16384 
¼x½ 16484 
¼?k½ 16584 

 

How many soldiers were there in a phalanx? 
(a) 16284 
(b) 16384 
(c) 16484 
(d) 16584 

            Answer- (b) 16384 

1 

1(3) ekS;Z lkezkT; dk izFke 'kkld dkSu Fkk\ 
¼d½ fcUnqlkj 
¼[k½ pUnzxqIr ekS;Z 
¼x½ v’kksd 
¼?k½ /kukuUn 

Who was the first king of Maurya Empire? 
(a) Bindusara 
(b) Chandragupta Maurya 
(c) Ashoka 
(d) Dhananand  
Answer- (b) Chandragupta Maurya 

1 

1(4) rjkbZu dh izFke yM+kbZ esa fdldh gkj gqbZ\ 
¼d½ egewn xtuoh 
¼[k½ eqgEen xkSjh 
¼x½ i`Foh jkt pkSgku 
¼?k½ buesa ls dkbZ ugha 

 
Who was defeated in the first battle of Tarain? 
(a) Mahmud Ghazni 
(b) Muhammad Ghuri 
(c) Prithviraj Chauhan 
(d) None of these 
Answer- (b) Muhammad Ghuri 

1 



1(5) ikuhir dk f}rh; ;q) dc gqvk\ 
¼d½ 1526 bZ0 
¼[k½ 1556 bzZ0 
¼x½ 1656 bZ0 
¼?k½ 1761 bZ0 

 

When did the second battle of Panipat take place? 
(a) 1526 AD 
(b) 1556 AD 
(c) 1656 AD 
(d) 1761 AD 
Answer- (b) 1556 

1 

1(6) bZLV bf.M;k dEiuh dk xBu dc gqvk\ 
¼d½ 1500 bZ0 
¼[k½ 1550 bZ0  
¼x½ 1600 bZ0   
¼?k½ 1750 bZ0 

When was the East India Company established? 
(a) 1500 AD 
(b) 1550 AD 
(c) 1600 AD 
(d) 1750 Ad 
Answer- (c) 1600 AD 

1 

1(7) Ikuhir dk rhljk ;q) fdlds e/; yM+k x;k\ 

Between whom was the third battle of Panipat fought? 
Answer- Ahmad Shah Abdali and Maratha commander Sadashiv Rao 
Bhau 

1 

1(8) eqxyksa dh lSU; O;oLFkk fdl izFkk ij vk/kkfjr Fkh\ 

On what practice was the military system of Mughals based? 
Answer- Mansabdari System 

1 

1(9) 1857 dh ØkfUr dk igyk 'kghn dkSu Fkk\ 

Who was the first martyr of the revolution of 1857? 
Answer- Mangal Pandey 

1 

1(10) bZMu vk;ksx dh LFkkiuk lu~ ---------------- esa dh xbZA 1 



The Edan commission was established in …………. 
Answer- 1879 AD 

1(11) lu~ 1947 esa tEew&d’ehj fj;klr ds 'kkld -------------------- FksA 

…………was the ruler of princely state of Jammu- Kashmir in 1947. 
Answer- Maharaja Hari Singh 

1 

1(12) [kkylk iaFk dh LFkkiuk ---------------------------- us dhA 

…………………... was founder of the Khalsa sect. 
Answer- Guru Govind Singh 

1 

1(13) vfHkdFku (A) & izkphu Hkkjrh; esa lSU; foKku dh f’k{kk /kuqoZsn ds 
vUrxZr nh tkrh FkhA 
dkj.k (R)& ;g _Xosn dk miosn gSA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 

(A) (R)  

Assertion (A)- In ancient India, military science was taught under 
Dhanurveda. 
Reason(R)- This is a upveda of Rigveda. 
(A)  Both Assertion (A) and Reason (R) are true. 
(B) Both Assertion (A) and Reason (R) are false. 
(C) Assertion (A) is true but Reason (R) is false. 
(D) Assertion (A) is false but Reason (R) is true. 
Answer- (C) Assertion (A) is true but Reason (R) is false. 

1 

1(14) vfHkdFku (A) & ikuhir dh nwljh yM+kbZ 1558 bZ0 esa yM+h xbZA 
dkj.k (R)& bl yM+kbZ esa jktk gsew dh gkj gqbZA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 

(A) (R)  

Assertion (A)- The second battle of Panipat was fought  in 1558 AD. 
Reason (R)- King Hemu was defeated in this battle.  
(A) Both Assertion (A) and Reason (R) are true. 
(B)Both Assertion (A) and Reason (R) are false. 
(C)Assertion (A) is true but Reason (R) is false. 
(D)Assertion (A) is false but Reason (R) is true. 
Answer-(D) Assertion (A) is false but Reason (R) is true. 
 
 

1 



1(15) vfHkdFku (A) & egkHkkjr dky esa lsuk dh lcls NksVh bdkbZ iŸkh FkhA 
dkj.k (R)&  ,d iŸkh esa dqy 10 lSfud gksrs FksA 
¼d½ vfHkdFku (A) vkSj dkj.k (R) nksuksa lR; gSA 
¼[k½ vfHkdFku (A) vkSj dkj.k (R) nksuksa vlR; gSA 
¼x½ vfHkdFku (A) lR; gS ysfdu dkj.k (R) vlR; gSA 
¼?k½ vfHkdFku (A) vlR; gS ysfdu dkj.k (R) lR; gSA 

(A) (R)

Assertion (A)- The smallest unit of the army during the Mahabharata 
period was Patti. 
Reason (R)- There were a total of 10 soldiers in a Patti. 
(A)Both Assertion (A) and Reason (R) are true. 
(B)Both Assertion (A) and Reason (R) are false. 
(C)Assertion (A) is true but Reason (R) is false. 
(D)Assertion (A) is false but Reason (R) is true. 
Answer- (A) Both Assertion (A) and Reason (R) are true. 

1 
 
 

  
Very Short Answer Type Questions 

02x06=12 

2 oSfnd dkyhu lsuk ds izdkj fyf[k,A  
mŸkj& 

oSfnd dky esa lsuk ds nks izdkj Fks& iSny vkSj jFk lsuk 
 
           Write the types of army of Vedic period. 
           Answer- There were two types of army in Vedic period- Infantry and   
                       Chariot army. 

2 

3 ekS;Zdky esa nwxksaZ ds izdkj fyf[k,A  
mŸkj& 
1- vkSnd nqxZ 
2- ikoZr nqxZ 
3- /kkUou nqxZ 
4- ou nqxZ 

           Write the types of fort during Maurya period. 
           Answer- 

1- Water fort 
2- Hill fort 
3- Desert fort 
4- Forest fort  

2 

 4 rjkbZu dh nwljh yM+kbZ dc vkSj fdlds e/; gqbZ\ 
mŸkj&rjkbZu dh nwljh yM+kbZ 1192 esa iF̀ohjkt pkSgku vkSj eqgEen xkSjh 
ds e/; gqbZA 
 

           When and between whom did the second battle of Tarori take place? 
            Answer- 
           The second battle of Tarori was fought in 1192 AD between Prithviraj  
           Chauhan and Muhammad Ghuri 

2 



5 jkWcVZ Dykbo ds dksbZ nks lSU; lq/kkj fyf[k,A  
mŸkj& 
1- cVkfy;u dk xBu djuk 
2- lSU; HkŸkksa esa o`f) djuk 
3- lSfudksa dh la[;k esa of̀) djuk 
4- lsuk dks 'kL=ksa ls lqlfTtr djuk vkfnA 

 
            Write any two military reforms of Robert Clive.  
            Answer-  

1- Formation of battalion 
2- Increasing military allowances 
3- To increase the number of soldiers 
4- Equipping the army with weapons etc. 

2 

6 eqxyksa dh ;q)if)r dkSu lh Fkh\ 
mŸkj& 
1- rqyxek ;q) if)r 
2- vjck ;q) if)r 

 
            Which was the warfare method of the Mughals? 
           Answer- 

1- Tulgama method 
2- Araba Method  

 
      Or 

      ikuhir esa fdruh yM+kb;k¡ gqbZ gSa\       
       mŸkj& 03  

1- Ikkuhir dh izFke yM+kbZ& 1526& ckcj vkSj bczkfge yksnh ds e/; 
2- Ikkuhir dh izFke yM+kbZ& 1556& vdcj vkSj gsew ds e/; 
3- Ikkuhir dh izFke yM+kbZ& 1761& vgen 'kkg vCnkyh vkSj ejkBk 

lsukifr lnkf’ko jko HkkÅ ds e/; 
 How many battles have taken place in Panipat?  
Answer- 03  
1- First battle of Panipat- 1526- Between Babar and Ibrahim Lodhi 
2- Second battle of Panipat- 1556- Between Akbar and Hemu 
3- Third battle of Panipat- 1761- Between Ahmed Shah Abdali and 

Maratha commander Sadashiv Rao Bhau 

2 

7 egkdkO; dky dh prqjafxuh lsuk dkSulh Fkh\  
mŸkj& 

       iSny lsuk] v’olsuk] xtlsuk vkSj jFklsuk  
 
             Which was the Chaturangini Sena of the epic period?                            
             Answer- 
            Infantry, Cavalry, Elephantry and Chariotry.  
 
             Or 

2 



       egkHkkjr dky esa ;q)ksa ds izdkj fyf[k,A 
mŸkj& 
1- /keZ ;q) 
2- dwV ;q) 

 
            Write the types of wars in Mahabharata period. 

Answer 
1- Religious war  
2- Concealed war 

 Short Answer Type Questions 03x06=18 
8       lSU; foKku ds dksbZ rhu {ks= fyf[k,A  

mŸkj& 
1- ;q) dk v/;;u djuk 
2- lSU; laxBu dk v/;;u djuk 
3- gfFk;kjksa dk v/;;u djuk 
4- jk"Vªh; lqj{kk dk v/;;u djuk vkfnA 

 
           Write any three scope of military science. 
           Answer- 

1. Studding war 
2. Study of military organization 
3. Studding weapons 
4. Study of national security etc. 

3 

9 f’kokth ds nwxksZa dh iz’kklfud O;oLFkk dk o.kZu dhft,A 
mŸkj& rhu Lrjh; O;OkLFkk 
1- goynkj vkSj rkr&ljukScr& ejkBk 
2- lqcsnkj & czkg~e.k 
3- fdysnkj & dk;LFk  

 
            Describe the administrative system of Shivaji’s forts.  
            Answer- Three tier system 

1- Havaldar and Tat- Sarnaubat- Maratha 
2- Subedar – Brahmin  
3- Kiledar - Kayastha 

3 

10        >sye dh yM+kbZ esa iksjl dh gkj ds D;k dkj.k FksA 
 mŸkj& 
1- iM+kslh jkT;ksa ls 'k=qrk 
2- detksj tklwlh ra= 
3- fjtoZ lsuk dk uk gksuk 
4- lsuk esa xfr’khyrk dh deh vkfnA 

 
     What were the reasons for the defeat of Porus in the battle of      
Hydaspes. 
           Answer- 

1- Enmity with neighboring states 
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2- Weak spy system 
3- Absence of reserve army 
4- Lack of mobility in the army etc. 

11 egkjktk j.kthr flag ds izeq[k lSU; lq/kkjksa dk o.kZu dhft,A  
mŸkj& 
1- lSfudksa dks izf’kf{kr djus ds fy, izf’k{kd fu;qDr djuk 
2- u, gfFk;kjksa dh O;oLFkk djuk 
3- lsuk dks ;wjksih; i)fr ij laxfBr djuk 
4- lsokfuòr lSfudksa ds ifjokjksa ds fy, vkj{k.k dh O;oLFkk djuk 
5- er̀ o viax lSfudksa dks forh; lg;ksx nsuk 
6- fu;fer lsuk j[kuk vkfn 

 
           Describe the main military reforms of Maharaja Ranjeet Singh. 
      Answer- 

1- Appointing trainers to train soldiers 
2- Arranging new weapons 
3- Organising the army on European pattern 
4- Arrangement of reservation for the families of retired soldiers 
5- Providing financial support to dead and disabled soldiers 
6- Keeping regular army etc. 
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12 vFkZ’kkL= esa of.kZr lsuk ds izdkj fyf[k,A  
mŸkj& 
1- EkkSy cy 
2- Hkr̀d cy 
3- Js.kh cy 
4- fe= cy 
5- vfe= cy 
6- vVoh cy     

         
            Write the types of troops described in Arthashastra.  
       Answer – 

1- Maula bal 
2- Bhritak bal 
3- Sreni bal 
4- Mitra bal 
5- Amirta bal 
6- Atavi bal 

 
                  Or 
      egkHkkjr dky dh lSU; bdkb;ksa dk o.kZu dhft,A 
       mŸkj& 

1- iŸkh 
2- lsukeq[k 
3- xqYe 
4- x.k 
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5- okfguh 
6- i`ruk 
7- pew 
8- vuhfduh 
9- v{kkSfguh 

               Describe the military units of Mahabharata period.  
              Answer- 

1- Patti 
2- Senamukh 
3- Gulm 
4- Gan 
5- Vahini 
6- Pritna 
7- Chamu 
8- Anikini 
9- Akshauhini 

13 Hkkjr&phu ;q) ds izeq[k dkj.k fyf[k,A  
mŸkj& 
1- frCcr dh leL;k 
2- lhek fookn 
3- nykbZ ykek dks jktuhfrd 'kj.k nsuk 
4- Hkkjr dh vxzxkeh uhfr 
5- phu dh foLrkjoknh uhfr vkfn 

 
            Write the main causes of Sino-China war. 
            Answer- 

1- Problem of Tibet 
2- Border dispute 
3- Giving political asylum to Dalai Lama 
4- Forward looking policy of India 
5- China’s expansionist policy etc. 

 
                        Or 
       lkscjkao dh yM+kbZ dk o.kZu dhft,A 
       mŸkj& 

1- eq[; ?kVuk&10 Qjojh] 1846 
2- lkefjd lajpuk 
3- ifj.kke& flD[kksa dh ijkt; vkSj ykgkSj dh laf/k 

 
            Describe the battle of Sobraon. 

Answer- 
1- Main events- February 10, 1846 
2- Tactical formation 
3- Result- Defeat of Sikh and treaty of Lahore  

 

3 



 Essay Type Questions 05x03=15 
14          lSU; foKku dks ifjHkkf"kr dhft, vkSj bldh mi;ksfxrk dh  

         foLrkjiwoZd foospuk dhft,A 
 

mŸkj& 
lSU; foKku dh ifjHkk"kk,¡& 
1- dSIVu ,e0ih0 oekZ ds vuqlkj& lSU; foKku dwV;kstuk] lejrU= 

vkSj iz’kklu fo|k dk foKku gSA 
2- izks0 ch0,u0 ekyhoky ds vuqlkj& lSU; foKku lekt lss lacaf/kr 

lSfud fopkjksa ds fodkl] ;q) ;U=ksa] lSU; laxBu ;q) dkS’ky rFkk 
;q) uhfr dk v/;;u gSA 

3- estj ';keyky ds vuqlkj& lSU; foKku ,d lkekftd fo"k; gS tks 
gesa lekt esa gksus okys ;q)ksa ds dkj.k] izHkko] fof/k ,oa lk/kuksa dh 
tkudkjh djkrk gSA  

mi;ksfxrk& 
1- jk"Vª&izse dh Hkkouk dk fodkl djuk 
2- ns’k dh pqukSfr;ksa ls voxr djkuk 
3- ukxfjdksa dks ekr`Hkwfe dh j{kk ds izfr drZO;ksa dk cks/k djuk 
4- ns’k ds lqj{kk rU= dh tkudkjh nsuk 
5- ukxfjd j{kk dks c<+kok nsuk 
6- L=krsftd laLd`fr dk fodkl djuk 
7- gfFk;kjksa dh tkudkjh nsuk 
8- vlSU; ekspZs dh rS;kjh djuk 
9- 'kkfUr ,oa lqj{kk dh LFkkiuk djuk 
10- dq'ky usr`Ro {kerk iznku djuk vkfnA 

 
            Define military science and discuss its utility in details.  
       Answer- 
            Definitions of Military Science 

1- According to Capt. M.P. Verma- Military science is the science of 
strategy, tactics and administration. 

2- According to Prof. BN Maliwal- Military science is the study of 
development of military ideas related to society, war instruments, 
military organization, war skill and war policy. 

3- According to Major Shyamlal- Military science is a social subject 
which informs us about the causes, effects, method and means of 
wars in the society. 
 

Military science utility- 
1- To develop the feeling of patriotism 
2- To make aware of the country’s challenges 
3- To make the citizens aware of their duties towards protecting the 

motherland 
4- Providing information about the country’s security system 
5- Promotion of civil defence 
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6- Developing a strategic culture 
7- Giving the information about weapons 
8- Preparing for the civilian front 
9- To establish peace and security 
10- To provide efficient leadership etc. 

 
 OR 

oSfnd dkyhu lSU; i)fr dk o.kZu dhft,A  
mŸkj& 
1- lsukax 
2- lSU; izf’k{k.k 
3- vL=&'kL= 
4- nqxZ 
5- pj O;oLFkk 
6- ok| ;a= vkfnA 

 
           Describe the military system of the Vedic period.  
           Answer- 

1- Senang 
2- Military training  
3- Armaments 
4- Forts 
5- Spy system 
6- Musical instruments etc. 

15 ekS;Z dkyhu lSU; i)fr dh O;k[;k dhft,A  
mŸkj& 
1- lsuk ds izdkj 
2- prqjax cy 
3- lsuk esa HkrhZ] osru ,oa HkŸks 
4- lSU; izf’k{k.k 
5- nwxZ 
6- vL=&’kL= 
7- O;wg jpuk 
8- xqIrpj O;oLFkk 
9- ;q) ds izdkj 
10- ;q) ifj"kn 

 
           Explain the military system of the Maurya period.  
           Answer- 

1- Type of troops 
2- Chaturanga Bal 
3- Recruitment, pay and allowances in the army 
4- Military training  
5- Forts 
6- Weapons 
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7- Array formation 
8- Intelligence system 
9- Type of war 
10- War council 

 
                                                OR 

flD[k lSU; O;oLFkk dk o.kZu dhft,A  
mŸkj& 

       fely O;oLFkk 
1- jktdh; lsuk& QkSt&,&vke o QkSt&cs&dosn 
2- lsukax& iSny lsuk] v’olsuk o rksi[kkuk 
3- 'kL=kL= 
4- nwxZ jpuk 
5- eukscy] vuq’kklu vkSj izf’k{k.k 
6- ;q) dkS’ky 

 
          Describe the military system of Sikh. 
         Answer- 

1- State army- Fauj-e-Aam and Fauj-be-Kaived 
2- Forces- Infantry, Cavalry and Artillery 
3- Weapons 
4- Fort formation 
5- Morale, discipline and training 
6- Combat skills 

 
16  1857 dh ØkfUr dh vlQyrk ds dkj.kksa dh O;k[;k dhft,A  

mŸkj& 
1- ns’kh fj;klrksa dks vaxzstksa dks lg;ksx 
2- lhfer {ks= esa ØkfUr gksuk 
3- gfFk;kjksa dk vHkko 
4- ØkfUrdkfj;ksa ds O;fDrxr LokFkZ 
5- usr`Ro dh deh 
6- laxBu ,oa ,drk dk vHkko 
7- fu/kkZfjr le; ls iwoZ 'kq: gksuk vkfnA 

                                     
            Explain the reasons for the failure of the revolution of 1857.  
            Answer- 

1- Support of the native princely states to the British 
2- Revolution in a limited area 
3- Lack of weapons 
4- Personal interests of revolutionaries 
5- Lack of leadership 
6- Lack of organization and unity 
7- Starting before schedule time etc. 
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                                           OR 
   Hkkjr&ikfdLrku ;q) 1947&48 ds izeq[k dkj.k ,oa ?kVukvksa dk o.kZu dhft,A                   
       mŸkj& 
       ;q) ds izeq[k dkj.k 

1- ns'k dk HksnHkko iw.kZ foHkktu 
2- ikfdLrku dh foLrkjoknh uhfr 
3- d’kehj leL;k 

       izeq[k ?kVuk,¡ 
1- ;q) dh 'kq:vkr 
2- vkWizs’ku xqyeZx 
3- ukS’ksjk o iqaN ij vkØe.k 
4- vkWizs’ku fclkWu 
5- ;q) fojke dh ?kks"k.kk  
6- ;q) ds ifj.kke 

 
             Describe the main causes and events of Indo-Pakistan war 1947-48.  
            Answer- 
            Main causes of war 

1- Discriminatory division of the country 
2- Pakistan’s expansionist policy 
3- Kashmir problem 

            Main events of war 
1- Beginning of war 
2- Operation Gulmarg 
3- Attack on Naushera and Poonch 
4- Operation Bison 
5- Declaration of ceasefire 
6- Consequences of the war 
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